Friday 24th April 2020
Lesson 5 EXTENSION: reasoning & problem solving

1. Mia and Toby are rolling a dice and multiplying the number they land on by 10. 
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 Are they correct? Explain your answer.

2. Eggs are sold in boxes of 10.
Louise buys 3 boxes.
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How many eggs does she have? Explain how you know.

3. A)  Blueberries are sold in packs of 10.
Sara has 40 blueberries. 
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How many packs did she buy? 

B)  If her friend Sara eats 1 pack, how many blueberries will she have left? 
Explain how you know.

 
4. Laura is solving multiplications.
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Is she correct? Explain your answer.
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8a. Jake is solving multiplications. 8b. Laura is solving multiplications.
He says, She says,

To solve 16 x 10, |
canuse 9x 10
and 7 x 10, then
add the answers.

Tosolve 14 x 10, |
canuse 10x 10
and 4 x 10, then
add the answers.

Is he correct? Explain your answer. Is she correct? Explain your answer.
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3. Mia and Toby are rolling a dice and multiplying the number they land on by 10.

I have made 50. ’ ‘ I'have made 40.

Mia

Are they correct? Explain your answer.
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4. Use the digit cards to create a multiplication that equals the answer below.
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10 x 4 is the
same as 4 x 10

10 x 2 is the
same as 2 x 10
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Is he correct? Explain your answer. Is she correct? Explain your answer.

)¢ |

3a. Eggs are sold in boxes of 10.

3b. Cookies are sold in bags of 10.

Louise buys 3 boxes. Adrian has 5 bags.

How many eggs does she have?

Explain how you know.

How many cookies does he have?

Explain how you know.
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éa. Blueberries are sold in packs of 10. 6b. Pencils are sold in packs of 10.

Sara has 40 blueberries. Harry has 20 pencils.

How many packs did she buy? How many packs did he buy?
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If Sara eats 1 pack, how many blueberries | If Harry gives 1 pack to a friend, how
will she have left? many pencils will he have left?

Explain how you know. Explain how you know.
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